	Problem #
	Answer

	001
	1

	002
	3

	003
	4

	004
	4

	005
	3 skip

	006
	6

	007
	5

	008
	6

	009
	2

	010
	4

	011
	2

	012
	7

	013
	5

	014
	2 

	015
	2

	016
	2

	017
	5

	018
	4

	019
	5

	020
	3

	021
	1

	022
	3

	023
	5

	024
	5 Skip

	025
	4 Skip

	026
	4 Skip

	027
	3 Skip

	030
	2 Skip

	031
	2 Skip

	035
	2 Skip

	036
	4 Skip

	048
	3

	049
	4

	050
	1

	051
	6

	052
	6

	053
	1 (same as 54)

	054
	4 (same as 53)

	060
	4 Skip

	061
	1 Skip

	062
	5 Skip

	063
	5 Skip

	064
	3 Skip

	065
	1 Skip

	Problem #
	Answer

	066
	2 Skip

	067
	4 Skip

	076
	5 (the Hydrogen ions = hydronium ion)

	077
	[bookmark: _GoBack]2

	078
	1

	079
	3

	080
	4

	081
	1

	082
	6

	083
	3

	084
	3

	085
	3

	086
	2

	087
	6



